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General Instructions :

(i) All questions are compulsory.

(i) The question paper consists of 31 questions divided into five sections A, B, C, D and
E. Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

(iif)  There is no overall choice.
(v)  Use of calculator is not permitted.

TUS-3H [ SECTION-A

T HE 1 4 Ul 1 5 T
Question numbers 1 to 4 carry one mark each.

1 <t g8 STl ¥, ysudl PQ 3R PS 1 %H: T 3R U o =@l 1 8| afe PORS U =#a 9qdsi @ 1
AT LRQT=110° &, T x A I |

Page 1 of 10

Downloaded from http://jsuniltutorial.weebly.com/




submited by Visitor % JSUNITL TUTORT AL

Chage €xcellence

In the given figure, sides PQ and PS are produced to T and U respectively. If PQF51s a cyclic
quadrilateral and ZRQT =110, find x.

2 2 el 1 Pt ot S § whe oue 12502 1) 3% Eed | SUE 9 w1

The ratios of the heights and the radii of two cylinders are 1 : 2and 2 : 1 respectively. Then
find out ratio of their volumes.

3 fom Y sFEi-11, 15,17, y + 1,19, y— 2,3, &1 #1=A AR 14 &, @ y F 97 F6 HAU 1
For the given data : 11, 15,17, y + 1, 19, y — 2, 3; if the mean is 14, find the value of y.

4 afe g 1 yord o SaR SR gua e e 8, @ e ¥ T %1 iR Im Fie 1

If Monday is considered as first dav of the week and Tuesday as second and so on, find the
range of days in a week.

EUES-§ /[ SECTION-B

T TR 5 Y 108 gET H 2 HF T
Question numbers 5 to 10 carry two marks each.

5 fias  PQRS T THiaT gyw §1 AR ST=8 cm, PQ=4 cm S RQ=6cm &, 1 QU F™ el 2
s R

o
In figure, ‘%QRS is a parallelogram. If ST=8 cm, PQ=4 cm and RQ =6 cm find QU.
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6 =g ol e S0 IET | WEHR F Fegal ¥, 35 gHigaifEd S | 2

Draw any obtuse angle. Bisect it using compass.

7 D, C 2

In the figure, ABCD is a thombus. Find the values of x and y.

8 T AR TeER § T gRI E6ET HOl W T R 7 o A 9 F 14 om B T 1 T <F @i 2
SHATET T IIIN F1G Hid |

The radius of spherical balloon increases from 7 cm to 14 cm as air is being pumped into it.
Find the ratio of volumes of the balloon in the two cases.

9 IX &7 Tt & e TR F AU A ydR 4 § - 2
T TR Ta |8 [aB |O
frerisigen |12 (9 |7 |6
AT A1 T T T gl < Wifde W 21 (T S48 0) 39 Fi wifgshd 9 S
The blood group of students from Class IX are collected and recorded as below :

Blood group Bh AB [O

Number of Students |12 |9 7 6
If a student is chosen at random, find the probability that he/she is a universal donor (O

group).
10 % wiaeugiors wlen § 30 faf & wwis A= iy o . 2
i faenfef=i =1 9=
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70
58
61
52
65
75
68
s foanel &1 ag=sar =1 T wifEEwa 7@ i o

() Toenel & wraiw 65 @ Hfuen w0l

b) Trmdt @ wais o o wen €

The mark obtained by 30 students in a competitive exam are given below :

W b O =1 e Ot W

Marks No. of Student
70 3
58 5
61 4
52 7
65 6
i) | 2
68 |3

One students is choosen at random. Find the probability :
(a) that the student scored more than 65 marks,
(b)  that the marks scored by the studentis an odd number.

W@Us-H / SECTION-C

Ty §eA1 11 9 18 § TE 6 3 HF € |
Question numbers 11 to 18 carry three marks each.

11 30 Jeruil FT A 12 B 1 UH HEI01 47 Y e ° 74 92 fAn @ an T Hre [ i | 3

Mean of 30 observations is 12. One observation 47 was misread as 74. Find the corrected
mean.

12 qum d TR W T ¥ @vd 88 fee it ard o WE #t @w 152 fet @1 @ I &Y 3
39d @9d F1d &I

The consumption of petrol for first 3 months is 88 litres and for next 9 months is 152 liters.
Find the average consumption for the whole year.

13 DEPGW%&E%,WWDF@ﬂWWﬁﬁWm%I fag #ifee fw fawdl 3
DF, GE &1 qafgvIfsa & g1
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DEFG is a quadrilateral such that diagonal DF divides it into two parts of equal areas. Prove
that the diagonal DF bisects GE.
F

G
O
D E
14 Tog =ifse T 90 51 fodl sian =1 oia gufeues 909 =19 #1 9ugafsd F@r g1 3

Prove that the perpendicular bisector of a chord bisects the corresponding arc of the circle.

15 @ /R m qur ST e van e wifan) fres T % @ SR F ofa: Fil % aufsaes 3
Eifau

Draw lines / and m intersected by a transversal t. Construct angle bisectars of the interior angles on
same side of the transversal.

16 ABCD U& gq=q4s v | g9isT, f fasot AC Fmii A v ¢ S #1 aefaafem #xa £ 91 fawol 3
BD &IV B 31 D SF1 &l THEITA #ar 2|

ABCD is a rthombus. Show that diagonals AC bisects ZA as well as ZC and diagonal BD
bisects ZB as well as £ZD.

17 (T H, PQRS Wb i TS §, foran faerol O W wftrsdig %0 &1 x @K y % WH 5 #ifog | 3
A1 &, $H WHIE 905 & w0 4 19 i |
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In the figure, PQRS is a parallelogram whose diagonals intersect at O. Find the values of x
and y. Also, find the angles of the parallelogram.
S R

18 HEHl 1 A Yt o M H AN US A9E ©1 TA% FFaH A e% Sbel 3 S0 9H - 3
Hifora |

The diameter of the moon is approximately one-fourth of the diameter of earth. Compare their
volumes and curved surface areas.

¥Yug-g f/ SECTION-D

FHA G198 289 9T F 4 FHH )
Question numbers 19 to 28 carry four marks each.

19 =1 wreoit & for, U araRa agyS (3atas & 41g) &1 =1 i 4
IWE @l | 400- |500- |[600- |[70D- | 800- 900-
Ra— 500 600 700 800 900 1000
(TH9) |
=fEE & | 17 24 135 [10 7 5
e )

For the following table, construct a frequency polygon (with histogram) :

Cost of gift | 400- 500- | 600- 700- 800- 900-
(in%) 500 600 700 800 900 1000
No of |17 24 35 10 7 5
people ,

20 ABCD W ©xeTm & fa@i AB || DC E1 8T AD @IR BC & wa-fog %99: X sl Y ¥1 =t 4

CD=30 cm R AB =50 cm 7], 9 S918T fF ar(DCYX) = % ar(XYBA) €|
D c

/ |

ABCD is a trapezium with AB||DC. X and Y are mid-points of sides AD and BC respectively.
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If CD=30 cm and AB =50 cm, show that ar(DCYX) = -gar[XYBA)
D C

X/ Y
g Al
Asmcnwﬁﬁammsﬁmﬁaﬁ%ﬁmaaﬁ{mmaW%%Aazmmsﬂt 4

CD=12 cm ¥ 491 39% 9 F g 14 cm & EEEIREERI oo

AB and CD are two parallel chords of a circle which are on the opposite sides of the centre
such that AB=16 cm and CD=12 cm and the distance between them is 14 cm. Find the radius
of the circle.

B

AABC &1 W91 SifwT, frgd AB= 6.7 cm, ZA =55° 3R AC— BC =12 cm ) 4
Construct AABC in which AB= 6.7 cm, ZA =55°and AC— BC =12 cm.

TF FHR 974 ABCD &, P 3R Q Fww- T AR SR CD ¥ wea-fig ¥ Sar o ametr 4 4
I T iiee % Y@reE Dp sl BQ fasul AC =i gafrafsm s &
D Q i

R
A P

B -
In a parallelogram ABCD, P and Q are the mid —points of sides AB and CD respectively as

shown in the figure. Show that the line segments DP and BQ trisect diagonal AC,
D Q

C

\
(o

i Y
A P B
WW%H@%@MW@WW&@%@WW%@W?WW% 4
émwmwaﬁﬁl?ﬂ?ﬁ@ﬁﬂﬂ@ﬁﬂ%@%ﬁ%ﬁﬂﬁﬁﬂﬁscmx3cm><
15cm%aw@fraﬁm@ﬁaﬂﬁwﬁmﬁﬁmﬂﬁwnm AR F=E 15 om &1 g
%ﬁaﬁqﬁuwaﬁm%ﬁnﬁm%ﬁwwaﬁﬁ%?mﬁmmww%?
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In a group of 3 girls, one girl forgot to bring her lunch so, other two girls decided to share their lunch
with her lunch box 1°* girl lunch box is in the shape of a cuboidal box measures 6 cm X 8 em X 15 cm

and of 2 ™ girls lunch box is cylindrically shaped having radius 7 cm and height 15 em.Which box has
more surface area and which box has more volume ? Which value is depicted by girls ?

—

22
Usem=—
( 71

TH TAMER oSl % GgH 0 H  dF  FEA ol % SE%d wEE:
120 em?, 72 cm?2 3R 60 cm2 8 1 59 T & famnd siic smaa s il

If the areas of the three adjacent faces of a cuboidal wooden box are
120 em?, 72 em? and 60 cm? respectively, then find the dimension and volume of the box.

8 cn FM 3R 12 cm 918 91 €1 & ofdl geiia ¥ &1 Toaae< 4 mm B arel €19 &1 iferar
R e | 3T YHR S AT 1 A Jid S |

A lead right circular cone of diameter 8 cm and lLieight 12 cm is melted and recasted into
spherical lead shots each of radius 4 mm. How many lead shots can be made ?

Il OF 9o F1 5 = T 3R FaR = s w T s, A = § yfeve e =0 dm
(2) T IS Ed |
(b)  IET

If in a cylinder, radius is doubled and height is halved, then what is the percentage change in
following :

() curved surface area.

: (b) volume.

U fesa 3 80 7ca T a9 39 a7 %o (dd ) A= fou s fiwre fen e # -

S e (5 ) | S|
300 9 '
500 13 '
700 24
900 24
1100 10

TF 909 IS oo ©9 4 I ST § | SHHT WAl 7 Firoy
(@) I U TS Al ATUFHAT SiaT HreT 900 52 )
(b) 7 B TeH H Y S5 Hied 700 5 T

T FR 5 Al w9 § 3 TR wew 2 Wi %%,.faweﬁmwgooa%%l

There are 80 bulbs in a box and their life time (in hours) is recorded as follows :
Life time (in hours) | Frequency
300 9
500 13
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700 24 |
900 24 |
1100 10 ‘

One bulb is selected at random. Find the probability
(@) that the bulb selected has at maost the life of 900 hours.
(b) the bulb selected has at least the life of 700 hours.

Verity that the probability of the bulb selected at random having the life of 200 hours is % :

EUs-4 / SECTION-E

(H& 91/Open Text)

(*gon giafraa = & 5 sws fom 9 g st s T & e e 2)
(* Please ensure that open text of the given theme is supplied with this question paper.)
fawa : ARG ¥ SregrEgeen § Aatera
Theme : Childheod Obesity in India

29 T formrery 3 et faenfordi @1 BMI = 5ARn 3f 33 79 w0 % amr 9ot % ==3 &1 T, 3

Wl x a1 AfF I 3 A y AU | gEE o o difen

A school made BMI chart of all the students and found that number of students who lie in
normal range are eight times the number of students who lie in overweight category. Write a
linear equation in two variables taking normal range as x and overweight as y. Also draw the

graph.

30 - g 3rgva TR T e aw o s ¥ 1 9% U R H 150 HE SO (@) FE and g 3
su s o & e wiafen srodt 7 &1 weraar =2 & el § S0l 9o gk § S Sol | S5 x
o2 5 =1 Fera w01 ) A9 y o Sim s 5 e o
() 34 Teufa & faq < =) 9 T e Tt Ey
(b) T o snm iy SR St Wit f 91 38 e @) el e e Y et
T It §

Renu is slightly overweight. She wants to burn 150 calories in a day. She decides to help her
mother in house hold chores and running in park for the same. She plans to spend x minutes
helping her mother and y minutes jogging.

(a) Framie a linear equation in two variables for the above situation.

(b) Plot a graph for the above and check whether the line representing the equation passes
through origin.

31 Hichs =id € foF IRAT 2 7T F 4 Tper & =1 § A TH F a9 AuFk T w0 IRy B FA 4
AT A4 g9 a1el 9 oot 54 SIS &1 fgd aHE & &0 § fafgu | sera of difau |

The data depicts that one in four school children in Indian Metro cities is overweight. Taking
'x' and 'y' total and overweight children, form an equation to represent the given information.
Draw graph
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